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1. Introduction
In last meeting, a WF on ATG simulation scenario has been approved [1]. In this contribution, we focus on the remaining simulation parameter discussion. The remaining issue is how to simulate the worst deployment case for non-synchronized gNB-gNB interference.
2. Discussion
Following lists the simulated ACLR and ACS for ATG BS and ATG UE among scenarios 1-4 and 9-12 for synchronization case. according to simulation results, legacy ACLR and ACS requirements for TN BS and TN UE is enough for ATG BS and ATG UE to avoid interference.
Proposal 1: legacy TN BS ACLR and ACS value could be reused for ATG BS.
Proposal 2: legacy UE ACLR and ACS value could be reused for ATG UE.
Simulation scenario 1
1. Final simulation results table
	Company
	Simulation scenarios
	Throughput loss, detailed explanation in sub-topic 2-3
	Relative ATG BS ACLR offset(dB)

	
	
	
	-20
	-10
	0
	10
	20
	30
	40
	50

	CMCC
	1
(4GHz ATGDLTNDL)
	5% in the whole network
	0.00127
	0.00028
	0.00018
	0.00017
	0.00017
	0.00017
	0.00017
	0.00017

	
	
	50% in the whole network
	3.25e-08
	7.22e-09
	4.71e-09
	4.45e-09
	4.43e-09
	4.43e-09
	4.43e-09
	4.43e-09

	
	
	5% of users within the cell with largest throughput loss for the case of TN DL victim
	29.0094
	9.97200
	6.97549
	6.56611
	6.53312
	6.52981
	6.52948
	6.52945

	
	
	50% of users within the cell with largest throughput loss for the case of TN DL victim
	0.08720
	0.01852
	0.01190
	0.01126
	0.01114
	0.01114
	0.01114
	0.01114

	Note 1: offset 0 means ATG ACLR/ACS=legacy ACLR ACS. There is no uniform ACLR/ACS offset step suggestion.
	
	



2. Final simulation results plot
ATG BS ACLR value that meets the 5% throughput loss requirement(average or worst)
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Note：P1 users within the cell with largest throughput loss for average；P2 the whole network for average

Simulation scenario 2
1. Final simulation results table
	Company
	Simulation scenarios
	Throughput loss, detailed explanation in sub-topic 2-3
	Relative ATG UE ACLR offset

	
	
	
	-30
	-25
	-20
	-15
	-10
	-5
	0

	CMCC
	2
(4GHz ATGULTNUL)
	5% in the whole network
	3.60748
	1.17673
	0.37612
	0.11932
	0.03783
	0.01203
	0.00387

	
	
	50% in the whole network
	0.00013278
	4.199e-05
	1.328e-05
	4.202e-06
	1.331e-06
	4.232e-07
	1.361e-07

	
	
	5% of users within the cell with largest throughput loss for the case of TN DL victim
	61.3863
	29.5883
	11.3904
	3.90913
	1.27238
	0.40810
	0.13162

	
	
	50% of users within the cell with largest throughput loss for the case of TN DL victim
	2.84800
	0.91923
	0.29265
	0.09279
	0.02941
	0.00935
	0.00301

	Note 1: offset 0 means ATG ACLR/ACS=legacy ACLR ACS. There is no uniform ACLR/ACS offset step suggestion.



2. Final simulation results plot
ATG BS ACLR value that meets the 5% throughput loss requirement(average or worst)
[image: ]

Simulation scenario 3
1. Final simulation results table
	Company
	Simulation scenarios
	Throughput loss, detailed explanation in sub-topic 2-3
	Relative ATG UE ACS offset

	
	
	
	-30
	-25
	-20
	-15
	-10
	-5
	0
	5
	10

	CMCC
	3
(4GHz TNDLATGDL)
	5% in the whole network
	85.3387
	72.8419
	57.4920
	41.7638
	26.4825
	13.3474
	5.44959
	1.62034
	0.71596

	
	
	50% in the whole network
	35.8428
	20.9282
	9.00668
	2.77994
	0.58819
	0.07370
	0.01538
	0.00414
	0

	Note 1: offset 0 means ATG ACLR/ACS=legacy ACLR ACS. There is no uniform ACLR/ACS offset step suggestion.



2. Final simulation results plot
ATG BS ACLR value that meets the 5% throughput loss requirement(average or worst)
[image: ]


Simulation scenario 4
1. Final simulation results table
	Company
	Simulation scenarios
	Throughput loss, detailed explanation in sub-topic 2-3
	Relative ATG BS ACS offset

	
	
	
	-40
	-35
	-30
	-25
	-20
	-15
	-10
	-5
	0

	CMCC
	4
(4GHz TNULATGUL)
	5% in the whole network
	68.0318
	41.4734
	19.2070
	7.59788
	3.13830
	1.63030
	1.14537
	0.99075
	0.94169

	
	
	50% in the whole network
	0.53644
	0.17206
	0.05598
	0.01918
	0.00753
	0.00385
	0.00268
	0.00232
	0.00220

	Note 1: offset 0 means ATG ACLR/ACS=legacy ACLR ACS. There is no uniform ACLR/ACS offset step suggestion.



2. Final simulation results plot
ATG BS ACLR value that meets the 5% throughput loss requirement(average or worst)
[image: ]

Simulation scenario 9
1. Final simulation results table
	Company
	Simulation scenarios
	Throughput loss, detailed explanation in sub-topic 2-3
	Relative ATG BS ACLR offset(dB)

	
	
	
	-20
	-10
	0
	10
	20
	30
	40
	50

	CMCC
	9
(2GHz ATGDLTNDL)
	5% in the whole network
	0.00155
	0.00035
	0.00023
	0.00021
	0.00021
	0.00021
	0.00021
	0.00021

	
	
	50% in the whole network
	2.69e-07
	6.00e-08
	3.91e-08
	3.70e-08
	3.68e-08
	3.68e-08
	3.68e-08
	3.68e-08

	
	
	5% of users within the cell with largest throughput loss for the case of TN DL victim
	22.4757
	6.89439
	4.69931
	4.47412
	4.45146
	4.44919
	4.44897
	4.44894

	
	
	50% of users within the cell with largest throughput loss for the case of TN DL victim
	0.03207
	0.00709
	0.00462
	0.00437
	0.00435
	0.00435
	0.00435
	0.00435

	Note 1: offset 0 means ATG ACLR/ACS=legacy ACLR ACS. There is no uniform ACLR/ACS offset step suggestion.



2. Final simulation results plot
ATG BS ACLR value that meets the 5% throughput loss requirement(average or worst)
[image: ]

Simulation scenario 10
1. Final simulation results table
	Company
	Simulation scenarios
	Throughput loss, detailed explanation in sub-topic 2-3
	Relative ATG UE ACLR offset

	
	
	
	-10
	-5
	0
	5
	10
	15
	20

	CMCC
	10
(2GHz ATGULTNUL)
	5% in the whole network
	17.9338
	6.65604
	2.26787
	0.77173
	0.28492
	0.12943
	0.08015

	
	
	50% in the whole network
	1.297e-05
	4.126e-06
	1.327e-06
	4.419e-07
	1.620e-07
	7.346e-08
	4.546e-08

	
	
	5% of users within the cell with largest throughput loss for the case of TN DL victim
	100
	26.0125
	9.65114
	3.41985
	1.28144
	0.58525
	0.36304

	
	
	50% of users within the cell with largest throughput loss for the case of TN DL victim
	6.07826
	2.01618
	0.65744
	0.21988
	0.08071
	0.03663
	0.02267

	Note 1: offset 0 means ATG ACLR/ACS=legacy ACLR ACS. There is no uniform ACLR/ACS offset step suggestion.



2. Final simulation results plot
ATG BS ACLR value that meets the 5% throughput loss requirement(average or worst)
[image: ]

Simulation scenario 11
1. Final simulation results table
	Company
	Simulation scenarios
	Throughput loss, detailed explanation in sub-topic 2-3
	Relative ATG UE ACS offset

	
	
	
	-10
	-5
	0
	5
	10
	15
	20
	25
	30

	CMCC
	11
(2GHz TNDLATGDL)
	5% in the whole network
	52.0106
	34.3276
	19.7637
	9.91390
	4.99892
	3.08716
	2.43239
	2.21971
	2.15187

	
	
	50% in the whole network
	16.9153
	7.39553
	1.77695
	0.56308
	0.22416
	0.11497
	0.08580
	0.07780
	0.07526

	Note 1: offset 0 means ATG ACLR/ACS=legacy ACLR ACS. There is no uniform ACLR/ACS offset step suggestion.



2. Final simulation results plot
ATG BS ACLR value that meets the 5% throughput loss requirement(average or worst)
[image: ]
Simulation scenario 12
1. Final simulation results table
	Company
	Simulation scenarios
	Throughput loss, detailed explanation in sub-topic 2-3
	Relative ATG BS ACS offset

	
	
	
	-40
	-35
	-30
	-25
	-20
	-15
	-10
	-5
	0

	CMCC
	4
(4GHz TNULATGUL)
	5% in the whole network
	34.0252
	16.2571
	6.43914
	2.38294
	0.96103
	0.49530
	0.34633
	0.29905
	0.28408

	
	
	50% in the whole network
	0.09508
	0.03036
	0.00986
	0.00338
	0.00133
	0.00068
	0.00047
	0.00041
	0.00039

	Note 1: offset 0 means ATG ACLR/ACS=legacy ACLR ACS. There is no uniform ACLR/ACS offset step suggestion.



2. Final simulation results plot
ATG BS ACLR value that meets the 5% throughput loss requirement(average or worst)
[image: ]






.
3. Conclusions
In this contribution, ATG simulation results are discussed with following observations and proposals:
Proposal 1: legacy TN BS ACLR and ACS value could be reused for ATG BS.
Proposal 2: legacy UE ACLR and ACS value could be reused for ATG UE.
4. Reference
[1] R4-2306607, WF on ATG co-existence evaluation, CMCC
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